oS = u)z]4=71 2 A

® x(y+1)=yx+1)
® 2x+y=1+y

® y=x(x-2)



y=-x+2

_1’y:3 @x:—Q’y:ZL @x:—3’y:5

@O x

:—5,y:7

® x

:—4’}):6

@ x



@ x=-2,y=1

@ x

O x=2y=1

=-2

_1,_)’

® x=2,y=-1

® x=1y=-2
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@ 2 B3 4 @ 6 ® 8



2
y) =ax®> +bxy+cy* A, 5 a, b ol ol 4(a + b)

® 30 ® 35 @ 40 ® 45



6. a-b=-2ab=4L W o+ F2?

@D 8 @ 12 B -4 @ -7 ® -15



7. O E 8L AR

rlo

@® 6x3 + (-2x)2 = -12x°
@ —4x® +2x3 = 242

® 8a*h? = 2(ab)? = 24°
1 1 1
2 = Ty = = _
@ (x +x).2x 555

® (4x% —y?) = (=2y) = -8x%y + 23
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-3x+by=56

©9

D a=3,b=2 @ a=-1,b=2 ®a=-2,b=6

@ a=-3.b=6 ® a=1,b=-9
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@ 100x — x ® 100x — 10x

@ 10x-x

3 1000x — 10x

@ 1000x — x



10. €715 H3E 100ma?b3cm? 0] 11, P
Q1 Hojtt. o] Y759 Eol=?
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@ 2bcm @ 4bcm ® 6bcm

@ 8bcm 3B 10bcm



0.06x — 0.05y = 0.18

|

@ x=8,y=-6

® x=-8,y=-6

@ x=8,y=6

® x=-8,y=6



12. ohg % ofel AP ERAl sk A 4 9k 2
0.2x - 0.7y = 0.1x - 0.5y = 0.3x — 0.9y

DO x=2y=1 @ x=1y=2 @ x=-1,y=2

@ x=-3,y=1 ® x=4, y=-2
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A><B=36a3b4,%:4a

@ 144ab @ 1444%b? ® 14443

@ 144a*p* B 1444°b°




14.

x=>5 2 & o, 5° -

A 6x ® 10x

5% + 5% & x of T3t

B 21x



AYLHA 5
y=-3x

2x =3y =
y=x—-2
x—y=2
x—3y=0

x+y=0
@ y

2x -2y =1

x+y=7
@ y

x—y=-7



